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CLASS : 12th (Sr. Secondary) Code No. 5608 
Series : SS-April/2021 
Roll No.           

ys[kk'kkL=ys[kk'kkL=ys[kk'kkL=ys[kk'kkL=    
ACCOUNTANCY 

HkkxHkkxHkkxHkkx – II 
PART – II 

¼¼¼¼oLrqfu"BoLrqfu"BoLrqfu"BoLrqfu"B    iz'u½iz'u½iz'u½iz'u½ 

(Objective Questions) 

ACADEMIC/OPEN 

[ fgUnh ,oa vaxzsth ek/;e ] 

[ Hindi and English Medium ] 

(Only for Fresh/Re-appear Candidates) 

•••• Ñi;k tk¡p dj ysa fd HkkxHkkxHkkxHkkx–II ds bl iz'u-i= esa eqfnzr i`"B 16 rFkk iz'u 44 (16 + 14 + 14) gSaA 

 Please make sure that the printed pages in this question paper of Part-II are 16 in 

number and it contains 44 (16 + 14 + 14) questions. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha flEcU/k esa dksbZ Hkh nkok Lohdkj ugha flEcU/k esa dksbZ Hkh nkok Lohdkj ugha flEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAd;k tk;sxkAd;k tk;sxkAd;k tk;sxkA 

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    
 (i) ;g iz'u&i= rhu rhu rhu rhu Hkkxksa esa foHkkftr gS % 
  HkkxHkkxHkkxHkkx    –    v %v %v %v %    vykHkdkjh laLFkk,¡ ,oa lk>snkjh [kkrsA 
  HkkxHkkxHkkxHkkx    –    c %c %c %c % dEiuh [kkrs ,oa foÙkh; fooj.kksa dk fo'ys"k.kA 
        HkkxHkkxHkkxHkkx    –    llll    %%%%    dEI;wVjhÑr ys[kkaduA 

SET : D 
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 ( 2 ) 5608/(Set : D) 

5608/(Set : D)/ II 

 (ii) Hkkx Hkkx Hkkx Hkkx – v vfuok;Z v vfuok;Z v vfuok;Z v vfuok;Z gSAgSAgSAgSA ijh{kkFkhZ viuh bPNk ls Hkkx Hkkx Hkkx Hkkx – c c c c rFkk Hkkx Hkkx Hkkx Hkkx – llll esa ls dksbZ ,d,d,d,d Hkkx       
gy djsaA 

 (iii) llllHkh Hkh Hkh Hkh iz'u gy djus gSaA izR;sd iz'u 1 vad dk gSA lghlghlghlgh  mÙkj viuh mÙkj-iqfLrdk esa fyf[k,A 
General Instructions : 

 (i) This question paper is divided into three Parts :  

  Part – A : Not for Profit Organizations & Partnership Accounts. . 

  Part – B : Company Accounts & Analysis of Financial Statements. 

  Part – C : Computerized Accounting. 

 (ii) Part – A is compulsory. Candidates have to attempt any one part from 

Part – B and Part – C of their choice.  

 (iii) All questions are to be attempted. Each question carries 1 mark. Write the 
correct  answer in your answer-book. 

Hkkx Hkkx Hkkx Hkkx –    vvvv    
PART – A 

¼¼¼¼vykHkdkjh laLFkk,¡ ,oa lk>snkjh [kkrsvykHkdkjh laLFkk,¡ ,oa lk>snkjh [kkrsvykHkdkjh laLFkk,¡ ,oa lk>snkjh [kkrsvykHkdkjh laLFkk,¡ ,oa lk>snkjh [kkrs½½½½    
(Not for Profit Organizations & Partnership Accounts)    

1. çkfIr vkSj Hkqxrku [kkrk çk;% çnf'kZr djrk gS % 1 

(A) MsfcV 'ks"k (B) ØsfMV 'ks"k 
(C) vkf/kD; ;k deh (D) iw¡th fuf/k 
Receipts and Payments Account generally shows : 

(A) A Debit Balance (B) A Credit Balance 
(C) Surplus or Deficit (D) Capital Fund 

2. fuEu esa ls dkSu-lk iw¡thxr çkfIr gS \ 1 

(A) vkthou lnL;rk 'kqYd (B) nku 
(C) pUnk  (D) fofu;ksxksa ij C;kt 
Which of the following represent Capital Receipt ? 

(A) Life Membership Subscription (B) Donation 
(C) Subscription (D) Interest on Investment 
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3. lk>snkj dk QeZ ls lEcU/k gksrk gS % 1 

(A) Lokeh dk (B) ,tsUV dk 
(C) Lokeh ,oa ,tsUV dk (D) çcU/kd dk 
The relation of partner with the firm is that of : 

(A) An owner (B) An Agent 
(C) An owner and an Agent (D) Manager 

4. lk>snkjh lays[k cukuk % 1 

(A) vfuok;Z gS 

(B) fyf[kr esa vfuok;Z gS 

(C) vfuok;Z ugha gS 

(D) mijksDr esa ls dksbZ ugha 

Forming of Partnership Deed is : 

(A) Mandatory 

(B) Mandatory in writing 

(C) Not mandatory 

(D) None of the above 

5. R;kx vuqikr % 1 

(A) u;k vuqikr − iqjkuk vuqikr (B) iqjkuk vuqikr − u;k vuqikr 

(C) iqjkuk vuqikr − ykHk çkfIr vuqikr (D) ykHk çkfIr vuqikr − iqjkuk vuqikr 

Sacrificing Ratio : 

(A) New Ratio − Old Ratio (B) Old Ratio − New Ratio 

(C) Old Ratio − Gaining Ratio (D) Gaining Ratio − Old Ratio 
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 ( 4 ) 5608/(Set : D) 
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6. fdlh u;s lk>snkj dks lk>snkjh esa lfEefyr fd;k tk ldrk gS % 1 

(A) fdlh Hkh ,d lk>snkj dh lgefr ls   

(B) lk>snkjksa ds cgqer dh lgefr ls 

(C) lHkh iqjkus lk>snkjksa dh lgefr ls 

(D) iqjkus lk>snkjksa ds 2/3 lk>snkjksa dh lgefr ls 

A new partner may be admitted into partnership : 

(A) with the consent of any one partner 

(B) with the consent of majority of partners 

(C) with the consent of all old partners 

(D) with the consent of 2/3 of old partners 

7. ^,Dl* rFkk ^okbZ* 3 : 2 ds vuqikr esa ykHk ck¡Vrs gSaA ^tsM* dks 1/4 Hkkx nsdj lk>snkj cuk;k x;k 
tks viuk fgLlk ^,Dl* rFkk ^okbZ* ls cjkcj-cjkcj çkIr djrk gSA u;k vuqikr gksxk % 1 

(A) 9 : 6 : 5 (B) 19 : 11 : 10 

(C) 3 : 3 : 2 (D) 3 : 2 : 4 

'X' and 'Y' are partners sharing profit in the ratio of 3 : 2. 'Z' was admitted with 

1/4 share in profits which he acquire equally from 'X' and 'Y'. The new ratio 

will be : 

(A) 9 : 6 : 5 (B) 19 : 11 : 10 

(C) 3 : 3 : 2 (D) 3 : 2 : 4 

8. ;fn u;k lk>snkj [;kfr dh jde udn ykrk gS] rks mls ck¡Vk tk,xk % 1 

(A) R;kx vuqikr esa (B) iqjkus ykHk vuqikr esa 

(C) u, ykHk vuqikr esa (D) iw¡th vuqikr esa 
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If the new partner brings his share of goodwill in cash, it will be shared by old 

partners in : 

(A) Sacrificing Ratio (B) Old profit sharing ratio 

(C) New profit sharing ratio (D) In capital ratio 

9. lk>snkj ds vodk'k xzg.k djus ij [;kfr dh jkf'k fdlds iw¡th [kkrs esa ØsfMV dh tk,xh \ 1 

(A) vodk'k xzg.k djus okys lk>snkj ds (B) 'ks"k lk>snkjksa ds 

(C) lHkh lk>snkjksa ds (D) mijksDr esa ls dksbZ ugha 

On retirement of a partner, goodwill will be credited to the Capital Account of : 

(A) Retiring Partner (B) Remaining Partners 

(C) All Partners (D) None of the above 

10. ^v*] ^c* o ^l* 4 : 2 : 1 ds vuqikr esa ykHk ck¡Vrs gq, lk>snkj gSaA ;fn ^v* ds vodk'k xzg.k djus 
ij ^c* o ^l* dk u;k vuqikr 3 : 1 gS] rks ykHk çkfIr vuqikr gksxk % 1 

(A) 3 : 13  (B) 13 : 3 

(C) 3 : 1  (D) 12 : 5 

'A', 'B' and 'C' are partners sharing profit in the ratio of 4 : 2 : 1. If the new 

ratio of 'B' and 'C' is 3 : 1 on the retirement of 'A', then what will be the gaining 

ratio ? 

(A) 3 : 13  (B) 13 : 3 

(C) 3 : 1  (D) 12 : 5 

11. lk>snkjksa dh iw¡th LFkk;h gksus ij dkSu-ls [kkrs [kksys tkrs gSa \ 1 

(A) dsoy iw¡th [kkrs (B) dsoy pkyw [kkrs 

(C) iw¡th [kkrs rFkk pkyw [kkrs (D) iw¡th [kkrs vFkok pkyw [kkrs 
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 ( 6 ) 5608/(Set : D) 

5608/(Set : D)/ II 

Which accounts are opened when the capital are fixed ? 

(A) Only Capital Accounts 

(B) Only Current Accounts 
(C) Capital Accounts as well as Current Accounts 

(D) Either Capital Accounts or Current Accounts 

12. lk>snkjksa dh iw¡th ij C;kt MsfcV fd;k tk,xk % 1 

(A) ykHk-gkfu [kkrs esa  

(B) ykHk-gkfu lek;kstu [kkrs esa 

(C) C;kt [kkrs esa 

(D) iw¡th [kkrksa esa 

Interest on partner's capitals will be credited to : 

(A) Profit and Loss Account  

(B) Profit and Loss Appropriation Account 

(C) Interest Account 

(D) Partner's Capital Accounts 

13. 1 ekpZ] 2019 dks ,d lk>snkj us QeZ esa ` 50,000 dh vfrfjDr iw¡th yxk;hA lk>snkjh lays[k ds 
vHkko esa 31-12-2019 dks mls C;kt feysxk % 1 

(A) ` 3,000 (B) 'kwU; 

(C) ` 2,500 (D) ` 1,800 

On 1st March, 2019 a partner introduced in the firm additional capital of           
` 50,000. In the absence of partnership deed, on 31st December, 2019 he will 
receive interest :  

(A) ` 3,000 (B) zero 

(C) ` 2,500 (D) ` 1,800 
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14. ;fn lk>snkjksa ds vkgj.k dh frfFk u nh gqbZ gks] rks fdrus le; dk C;kt yxk;k tkrk gS \ 1 

(A) 1 ekg dk 

(B) 3 ekg dk 

(C) 6 ekg dk 

(D) 12 ekg dk 

If date of drawings of the partner's is not given in the question, interest is 

charged for how much time ? 

(A) 1 month 

(B) 3 months 

(C) 6 months 

(D) 12 months 

15. ^,* rFkk ^ch* ykHk-gkfu dks leku ck¡Vrs gSaA 1 vçSy] 2010 ls os ykHk-gkfu dks 4 : 3 ds vuqikr esa 
ck¡Vus ij lger gq,A ykHk foHkktu esa ifjorZu ds dkj.k ^ch* dk ykHk çkfIr vFkok R;kx dk fgLlk 
gksxk %   1 

(A) ykHk çkfIr 
14

1  (B) R;kx 
14

1  

(C) ykHk çkfIr 
7

4  (D) R;kx 
7

3  

'A' and 'B' were partners sharing profits or losses equally. With effect from 1st 

April, 2010 they agreed to share profit in the ratio of 4 : 3. Due to change in 

profit sharing ratio, B's gain or sacrifice will be : 

(A) Gain 
14

1  (B) Sacrifice 
14

1  

(C) Gain 
7

4  (D) Sacrifice 
7

3  
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16. ,d QeZ }kjk dek;s x, fiNys ik¡p o"kks± ds ykHk ,oa gkfu bl çdkj gS % ` 12,000; ` 13,000;  

` 14,000; ` 18,000 vkSj ` 2,000 ¼gkfu½A nks o"kZ ds Ø; ds vk/kkj ij [;kfr dk ewY; gksxk % 1 

(A) ` 23,600 (B) ` 22,000 
(C) ` 1,10,000 (D) ` 1,18,000 

The profits earned by a business over the last 5 years are as follows : ` 12,000;  

` 13,000;  ` 14,000; ` 18,000 and ` 2,000 (loss). Based on 2 years purchase 

of last 5 years profit, value of goodwill will be :  

(A) ` 23,600 (B) ` 22,000 
(C) ` 1,10,000 (D) ` 1,18,000 

Hkkx Hkkx Hkkx Hkkx –    cccc    
PART – B 

¼¼¼¼dEiuh [kkrs ,oa foÙkh; fooj.kksa dk fo'ys"k.kdEiuh [kkrs ,oa foÙkh; fooj.kksa dk fo'ys"k.kdEiuh [kkrs ,oa foÙkh; fooj.kksa dk fo'ys"k.kdEiuh [kkrs ,oa foÙkh; fooj.kksa dk fo'ys"k.k½½½½    
(Company Accounts & Analysis of Financial Statements) 

17. ,d dEiuh dk ------------ gksrk gSA 1 

(A) i`Fkd oS/kkfud vfLrRo (B) LFkk;h thou 

(C) lhfer nkf;Ùo (D) mijksDr lHkh 

A company has ………… . 

(A) Separate legal entity (B) Perpetual existence 

(C) Limited liability (D) All of the above 

18. ,d dEiuh dk fuekZ.k fd;k tkrk gS % 1 

(A) laln ds fo'ks"k vf/kfu;e }kjk (B) dEiuh vf/kfu;e }kjk 

(C) fofu;kstdksa }kjk (D) lnL;ksa }kjk 

A company is created by : 

(A) Special act of Parliament (B) Companies Act 

(C) Investors (D) Members 
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19. dEiuh dh iw¡th dqN bdkb;ksa esa foHkDr gksrh gS] ftls dgk tkrk gS % 1 

(A) _.ki= (B) va'k 

(C) LVkWd  (D) ck.M 

Capital of a company is divided in units, which is called : 

(A) Debenture (B) Share 

(C) Stock (D) Bond 

20. dEiuh esa fuf'pr nj ls ykHkka'k fdldks fn;k tkrk gS \ 1 

(A) lerk va'k/kkfj;ksa dks (B) iwokZf/kdkj va'k/kkfj;ksa dks 

(C) _.ki=/kkfj;ksa dks (D) çorZdksa dks 

To whom dividend is given at a fixed rate in a company ? 

(A) To Equity Shareholders (B) To Preference Shareholders 

(C) To Debentureholders (D) To Promoters 

21. lafpr iw¡th fuEu dk Hkkx gksrh gS % 1 

(A) ek¡xh xbZ iw¡th (B) pqdrk iw¡th 

(C) iw¡th lap; (D) u ek¡xh xbZ iw¡th 

Reserve Capital is a part of : 

(A) Called up Capital (B) Paid up Capital 

(C) Capital Reserve (D) Uncalled Capital 

22. dEiuh vf/kfu;e ds vuqlkj U;wure vfHknku dh jkf'k dqy fuxZeu dk ----------- fu/kkZfjr dj nh 
xbZ gSA   1 

(A) 25%  (B) 50%  

(C) 90%  (D) 100%  
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According to Companies Act, Minimum subscription has been fixed at ……….. 

of the issued amount. 

(A) 25%  (B) 50%  

(C) 90%  (D) 100% 

23. _.ki=/kkjh dEiuh ds ----------- gksrs gSaA 1 

(A) Lokeh  (B) xzkgd 

(C) ysunkj  (D) çorZd 

Debentureholders are ………… of the Company. 

(A) Owners (B) Customers 

(C) Creditors (D) Promoters 

24. _.ki= çnf'kZr djrs gSa % 1 

(A) dEiuh ds nh?kZdkyhu _.k 

(B) lerk va'k/kkfj;ksa ds fofu;ksx 

(C) dEiuh esa lapkydksa ds va'k 

(D) dEiuh ds vYidkyhu _.k 

Debentures represent the : 

(A) Long term borrowings of a Company 

(B) Investments of Equity Shareholders 

(C) Directors shares in a Company 

(D) Short term borrowings of a Company 
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25. dEiuh ds _.ki=ksa dks fuxZfer fd;k tk ldrk gS % 1 

(A) udnh ds cnys (B) fcuk udn çfrQy ds 

(C) lgk;d çfrHkwfr ds :i esa (D) mijksDr dksbZ Hkh 

Debentures of a company can be issued : 

(A) For Cash (B) For consideration other than cash 

(C) As a collateral security  (D) Any of the above 

26. _.ki=ksa ds 'kks/ku ij ykHk dks fdl [kkrs esa gLrkarfjr fd;k tkrk gS \ 1 

(A) iw¡th lap; [kkrk (B) lkekU; lap; [kkrk 

(C) flafdax Q.M [kkrk (D) ykHk-gkfu fooj.k 

Profit on redemption of debentures is transferred to which account ? 

(A) Capital Reserve Account (B) General Reserve Account 

(C) Sinking Fund Account (D) Statement of Profit & Loss 

27. flafdax Q.M [kkrk dk 'ks"k ges'kk çnf'kZr djrk gS % 1 

(A) MsfcV 'ks"k (B) ØsfMV 'ks"k 

(C) u MsfcV u ØsfMV 'ks"k (D) MsfcV ;k ØsfMV 'ks"k 

Balance of Sinking Fund Account always shows : 

(A) Debit Balance (B) Credit Balance 

(C) Neither Debit nor Credit Balance (D) Either Debit or Credit Balance 

28. _.ki= 'kks/ku ij çhfe;e ------------ [kkrk gSA 1 

(A) lEifÙk  (B) nkf;Ùo 

(C) O;;  (D) vk; 
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Premium on redemption of Debentures Account is : 

(A) Asset (B) Liability 

(C) Expenses (D) Income 

29. fuEu esa ls dkSu-lk dFku lR;lR;lR;lR;  gS \ 1 

(A) vf/kÑr iw¡th = fuxZfer iw¡th  

(B) vf/kÑr iw¡th > fuxZfer iw¡th 

(C) pqdrk iw¡th > fuxZfer iw¡th  

(D) mijksDr esa ls dksbZ ugha 

Which of the following statements is true ? 

(A) Authorized Capital = Issued Capital 

(B) Authorized Capital > Issued Capital 

(C) Paid up Capital > Issued Capital 

(D) None of the above 

30. ,d dEiuh dh vf/kÑr iw¡th dk mYys[k gksrk gS % 1 

(A) ik"kZn lhekfu;e esa (B) ik"kZn vUrfuZ;e esa 

(C) çfooj.k esa (D) LFkkukiUu çfooj.k esa 

Authorised capital of a company is mentioned in : 

(A) Memorandum of Association (B) Articles of Association 

(C) Prospectus (D) Statement in lieu of prospectus 
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Hkkx Hkkx Hkkx Hkkx –    llll    
PART – C 

¼dEI;wVjhÑr ys[kkadu½¼dEI;wVjhÑr ys[kkadu½¼dEI;wVjhÑr ys[kkadu½¼dEI;wVjhÑr ys[kkadu½    
(Computerized Accounting) 

 

17. vdkmafVax iSdst fdl vk/kkj ij fodflr fd;s tkrs gSa \ 1 

(A) ys[kk vo/kkj.kk  (B) ys[kk ifjikfV;k¡ 

(C) (A) vkSj (B) nksuksa (D) mijksDr esa dksbZ Hkh ugha 

Accounting Packages are developed on the basis of : 

(A) Accounting Concepts (B) Accounting Conventions 

(C) Both (A) and (B) (D) None of the above 

18. vdkmafVax iSdst fdl çdkj dk lkW¶Vos;j gS \ 1 

(A) flLVe lkW¶Vos;j (B) ,Iyhds'ku lkW¶Vos;j 

(C) ;wfVfyVh lkW¶Vos;j (D) csfld 

What type of software is an accounting package ? 

(A) System Software (B) Application Software 

(C) Utility Software (D) Basic 

19. dEI;wVjhÑr ys[kk ç.kkyh ds ?kVd gSa % 1 

(A) MsVk] fjiksVZ] [kkrk cgh] lkW¶Vos;j] gkMZos;j 

(B) lkW¶Vos;j] gkMZos;j] yksx] çfØ;k 

(C) MsVk] dksfMax] çfØ;k] mn~ns';] vkmViqV 

(D) yksx] çfØ;k] gkMZos;j] lkW¶Vos;j 
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The components of computerized accounting system are : 

(A) Data, Report, Ledger, Software, Hardware 

(B) Software, Hardware, People, Procedure 

(C) Data, Coding, Procedure, Objective, Output 

(D) People, Procedure] Hardware] Software 

20. [kkrksa dk lewgu ls rkRi;Z MsVk ds oxhZdj.k ls gS % 1 

(A) lEifÙk;k¡] iw¡th vkSj nsunkfj;k¡  

(B) iw¡th] lEifÙk;k¡] nsunkfj;k¡] vk; vkSj O;; 

(C) lEifÙk;k¡] bfDoVh] vk; vkSj O;;  

(D) iw¡th] nsunkfj;k¡] vk; vkSj O;; 

Grouping of Accounts means the classification of data from : 

(A) Assets, Capital and Liabilities  

(B) Capital, Assets, Liabilities, Revenue & Expenses  

(C) Assets, Equity, Revenue & Expenses 

(D) Capital, Liabilities, Revenue & Expenses 

21. fo"ke dks pqusa % 1 

(A) ikloMZ flD;ksfjVh (B) MsVk vkWfMV 

(C) MsVk cSad (D) MsVk okWYV 

Choose the odd one out : 

(A) Password Security (B) Data Audit 

(C) Data Bank (D) Data Vault 

22. MsVk fo'ys"k.k MsVk os;jgkml dk ,d midj.k gSA  ¼lR;/vlR;½    1 

Data analysis is a tool of data warehouse.  (True/False) 
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 ( 15 ) 5608/(Set : D) 

5608/(Set : D)/ II   P. T. O. 

23. pj.kc) n`f"Vdks.k esa orZeku ç.kkyh çLrkfor ç.kkyh ds ckn fu"ikfnr gksrh gSA  ¼lR;/vlR;½    1 

In phased approach the current system is executed after the proposed system.  

 (True/False) 

24. Dykl mi;ksxdrkZ ifjHkkf"kr MsVk çdkj gSaA  ¼lR;/vlR;½    1 

Classes are user defined data types.   (True/False) 

25. vkWCtsDV vksfj,aVsM çksxzkfeax MsVk ds ctk; çfØ;k ij tksj nsrh gSA  ¼lR;/vlR;½    1 

Object Oriented programming emphasizes on procedure rather than on data. 

  (True/False) 

26. fuEufyf[kr fof/k;ksa esa ls ,d lsy esa MsVk ntZ djus ds fy, bLrseky ugha fd;k tk ldrk gS % 1 

(A) ,d rhj dqath nckuk (B) VSc dqath dks nckuk 

(C) ESC dqath nckuk (D) mijksDr esa ls dksbZ ugha 

Which of the following methods can not be used to enter data in a cell ? 

(A) Pressing an arrow key (B) Pressing the tab key 

(C) Pressing the ESC key (D) None of the above 

27. odZ'khV cukus esa fuEufyf[kr esa ls dkSu-lk ,d cqfu;knh dne ughaughaughaugha gS \ 1 

(A) odZcqd lso djsa (B) odZ'khV dks la'kksf/kr djsa 

(C) VsDLV vkSj MsVk Mkysa (D) odZ'khV dkWih djsa 

Which of the following is not a basic step in creating a worksheet ? 

(A) Save workbook (B) Modify the worksheet 

(C) Enter text and data (D) Copy the worksheet 

28. lsyksa esa j[kh xbZ fVIif.k;ksa dks dgrs gSa % 1 

(A) LekVZ fVi (B) lsy fVi 

(C) osc fVi (D) uje fVi 
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 ( 16 ) 5608/(Set : D) 

5608/(Set : D)/ II 

Comments put in cells are called : 

(A) Smart tip (B) Cell tip 

(C) Web tip (D) Soft tip 

29. ,d lw= dk mi;ksx djds ,dkf/kd x.kuk dh tk ldrh gS % 1 

(A) ekud lw= (B) lj.kh lw= 

(C) LekVZ lw= (D) tfVy lw= 

Multiple calculations can be made in a single formula using : 

(A) Standard formula (B) Array formula 

(C) Smart formula (D) Complex formula  

30. gkbijfyad dj ldrs gSa % 1 

(A) ikB  (B) Mªkbax oLrq,¡ 

(C) fp=  (D) mijksDr lHkh 

Hyperlink can be : 

(A) Text  (B) Drawing objects 

(C) Pictures (D) All of the above 

S 

Stu
de

nt
Suv

idh
a.

co
m

Download all NOTES and PAPERS at StudentSuvidha.com

dow
nloa

ded
 fro

m

http://studentsuvidha.com/
http://studentsuvidha.com/

